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Note: Youhave four choices for each objective type question as A, B, C and D. The choice which you think is corrcet,
fill that circle in front of that question number, Use marker or pen to fill the circles. Cutting or filling two or morc
circles will result in zero mark in that question. Attempt as many questions as given in objective type question

paper and leave others blank.

.1. 1- Anexcess ofaqueous silver nitrate is added to aqueous barium chloride and precipitate is
removed by filtration. What are the main ions in the filterate?

(A) Ag andNO, only
© Barr and NO; only

(B) Ag+ and B~ and NO;
(D) Ba’ and NO, and CL'

2 - Pressure remaining constant, at which temperature the volume of a gas will become twice of

what it is at 0°C

(A) 546°C (B) 200°C

3 - The number of bonds in nitrogen molecule is

(A) one o andonen
(C) three sigma only

(C) 546K (D) 273K

(B) one o andtwon
(D) two o andonen

0 = n
4- When water freezes at 0 C, its density decreases due to

(A) cubic structure of ice
(C) change of bond lengths

5- Isotopes differ in
(A) properties which depend upon mass
(B) arrangement of electrons in orbitals
(C) chemical properties

(B) empty spaces present in the structure of ice
(D) change of bondangles

(D) the extent to which they may be affected in electr@agnetic field
6- 18g glucose is dissolved in 90 g of water. The relative lowering of vapour pressure is equal to

1
A 5 (B) 5.1

7 - The nature of the positive raysdepend on
(A) the nature of electrode
(C) the nature of the residualgas
8 - The velocity of photomis
(A) independent of itswavelength
(C) equal to square of, ifs amplitude
9 - One calorie igiéquivalent to
(A) 0.4184]J (B) 41.84J

1
© 31 D) 6

(B) the nature of the discharge tube
(D) all of these

(B) depends on its wavelength
(D) depends on its source

(C) 4.1841] (D) 41841

10- Acetone and ehloroform are soluble in each other due to

(A) _intermolecular hydrogen bonding
(C). instantpneous dipole

(B) ion —dipole interaction
(D) all of these

11- Solvent extraction is an equilibrium process and it is controlled by

(A) law of'mass action
(C) distribution law

12 - In zero order reaction, the rate is independent of

(A) temperature of reaction
(C) concentration of products

(B) the amount of solvent used
(D) the amount of solute

(B) concentration of reactants

(D) none of these

13- Which of the following species has unpaired electrons in antibonding molecular orbitals?

(A) O ®) N}’

©) B (D) F

14- 27g of Al react completely with how much mass of O to produce ALO;

(A) 8gofoxygen

(B) 16 gofoxygen

(C) 32 gofoxygen (D) 24 gofoxygen

15 - The cathodic reaction in electrolysis of dil. HySO4 with Pt electrodes is

(A) reduction
(C) both oxidation and reduction

16 - The molar volume of CO; is maximum at
(A) STP (B) 127°Cand | atm

(B) oxidation
(D) neither oxidation nor reduction

(C) 0°Cand 2 atm (D) 273°C and 2 atm

17- The pH of 107 mol dm™ of an aqueous solution of H;SO4 is

(A) 3.0 (B) 2.7

€y 20 (D) 1.5
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‘ote: Section I is compulsory. Attempt any THREE (3) questions from Section IT.

: (SECTION - 1)

. Write short answers to any EIGHT questions.

i-
ii -
11 -
iv -
v -
Vi -
Vil -
V1il -
X -
x -
X1 -

X11 -

What is gram formula? Give example.

Define stoichiometry, write down its two laws.
How limiting reactant is identified?

What is distribution law?

What is mobile pHase and stationary phase?
What is physical meaning of value of R?

What is Avogadro’s law? Give example.
Where plasma is found?

How pressure of dry gas is calculated?

Define solubility curve, give its types.

Give two differences between ideal and non-ideal solutions.
What is fractional crystallization?

3. Write short answers to any EIGHT questions.

=
1 -
1l -
v -
V-

\
Vil -
Vil -

X -

x—
Xi -

xii -

Explain cleavage plane is anisotropic property.

Amorphous solids like glass are also called supemcodleddiquids. Explain.
Define isomorphism by giving one exampleg

Explain why HF is weak acid than HI?

Define Zeeman effect and stark effect!

State Heisenberg’s uncertainty pringiple, write down its mathematical form.
What is spin quantum number? Give 1ts significance.

What is difference between orbitand orbital?

Write down equilibrium constant expression for the reaction:
PCs =" PCls @t cl, (©

Calculate pHOL0:007"M HCA solution.

Explain the radifactive decay is 1** order reaction.

Justify the statement “the unit of rate constant of a second order reaction is
1

=1 2

dm®mole" s~ but the unit of rate of reaction is mole dm™s™".

4. Write short answers to any SIX questions.

.
ii -
il -
v -
W
Vi -
Vil -
viil -
iX -

Name the four factors affecting ionization energies.

Group - 11
Marks: 68

(2x8=16)

(2x8=16)

(2x6=12)

Why ionization energy decreases down the group inspite of the increase in proton number?

Why second ionization energy is higher than first ionization energy?
Define electron affinity with an example.

Define first law of thermodynamics.

Define heat and work.

Calculate oxidation state of chromium in dichromate ion.

What is the use of salt bridge in voltaic cell?

Why voltaic cell is a reversible cell?

(Turn Over)
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(SECTION - 1)

5. (a) Calcylate the gram atoms (moles) in
(i) 0.1 gofsodium  (ii) 0.1 kg of silicon
(b) Explain the following properties of crystalline solids. Give two examples in each case:

(i) Isomorphism (i) Transition Temperature

6. (a) Derive an equation to find out the partial pressure of a gas knowing the individual moles
of component gases and the total pressure of the mixture.
(b) Give the postulates of Bohr’s atomic model. Which postulate tells us that orbits are

stationary and energy is quantized?

7. (a) Define electron affinity. Name the factors affecting on it. How does it vary in the
periodic table.
(b) State first law of thermodynamics. Write down its mathematical expresgion.

Prove that AH = qp

8. (a) What is the percentage ionization of acetic acid in a solutionsin which 0.1 mol of it
has been dissolved per dm? of the solution. (Ka = 1.85%107)
(b) Explain half life method and large excess method t0 find the order of reaction.

9. (a) Freezing points of solutions are depressed when nop-volatile solutes are present in
volatile solvents. Justify it. Plot a graphtoielaborate your answer.

(b) Write down the various rules fof assigning oxidation number.

(4

(4)

(4

(4)

(4)

(4)

(4)

(4)
(4)

(4)
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